AP CalCu [L{S B&

1)4) P(Z) = bt
P(2) = A(D)- L(7)
=0.- %o = M

P(z.s)x ¢ +m (2 5=2)
= @_.20[_

Unt H: Free Response Questons

b Ps)= AYs)~ L(s)
=— 0,419

The vake of C"L““ﬁ’e oF the N Uk ooy e

Peaple v +he venue (s o[ccveaslhj
at a mate of 0. 679 hundreds of

people per hour pev hour.

o) I—F P(+) chanaes Goon neg GD

8 dx
fo posrhie, +hen A(H-L{E) ly X=1le dt
leamaes from eg. +ov pos. y=1o %lj%- =
This otcuvs at = 4,548 X e |

(A = XY E N Xf{[-i-i[ 5 \jj’—ff
= —4Bi Fpo
=12 f e
Z)a) wik)=L(t-4) L w(z)= 2%
L) = [F-Vhou.— W’HTJ:—ESM(%{—:)

At =27, the G{fip'H'l of weder

v e 200 a@quﬁw\ s M‘Cw_’&ﬂf@
at 4 voate of IP'%,,mf

; 2 B
G) _/gl/— W(‘t)‘f"‘ '_!5_2— 35 ! Lfﬂ'.ss_l 5
ey T g T S ® T
2 =
LIH ) !
JF o wi)-2t L w'(2)- 2+
£ 22 i -

wi(z) = -1

L{t)= &-T(t-2)

wes)= B >

[
o



2~t
2) @) X () :C%;%}—
+3

it = € 3t)(~e¥5a) _ ety (-¢7%3)

(62-"&‘,_5{_)2-

. 1 2-t £ o A
T TZe HteTiutre -3 o™
(e? 1207

N T

(62—{:_)_5{_)2_

_UF(z) & = 5= _ _15 <p Moviny

26 26 lef+
Pav—ﬁ'ch: P s Moumj 2 way Lo
Pa«‘HHf &.
) Vg (h)= 34244
Ao (t) = ¢t-¢
Ao(z) = 6
J i = .
" foxp e

P ticle P il cpprocc b pos{héq Y-.-n%

Powﬁclf fo hPDS‘l'Ha."f J-S_ tcnlbovcelod



